2.2.18
PCANBY = PAY +PB) — PAUR) = Ot +ot - 0.7 =0-|
PANB) = P(@QURY) =I1-PAUR) =03
2.3k
loe A= lese 1 dild iy by}, we b AT={all childven ove i}
Since axdh hild i fm\e\:enimt to the others , we hoe
PCAY =) = %
Thas P = [~ PAY = F
2. 2. 40
let g = {a{ last 2 ox¢ of 3 balls oo green}
B, = gexcLJcI? 2 bells  ove greeu}
B, = g exsctly 3 balls  are jreen§

we. e B=BUB. and Efﬂ&—;sﬁ
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Thus PCB):[’(B,)-Q-P(E’DL) = (2>Q> + (
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Le'(‘, H = g QUtcome 1§ }\@JI(
= g the ¢oin You Ft‘ck 15 {“\\'l)
l’nﬁﬁ""'“" (s un{acv{

Mote thae PCHIBD =73, PCHIB.LD =|

PLHY = P18 P(B) + PCHIB) P8 )
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2.3 39
From the. Prtv(w._s FNL{C.W\, we know 4D = —?(:

= P(BOH)
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reeted e
PU+D

= = A
oo =3
¥




